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The SI Unit Of Momentum Is

A. kgms?

4
B. kgms momenfum = Mmass X VQ/OCI/}'
C. kgmis? ) )
D. None of these kd me-/
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The SI Unit Of Momentum Is

A. kgms

B. kgms™

C. kgmis?

D. None of these
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Car A of mass 1500 kg travelling at 25 m/s collides with another car B of mass
1000 kg travelling at 15 m/s in the same direction. After collision the velocity of

car A becomes 20 m/s. What is the velocity of car B after collision ?

A. 25m/s .

mu +my = M+ my (Cnservabion 8/ mementum
B. 22.5m/s AU T T MYy ( ! m fu)
C. 36.7m/s (500 X25 + (000 X/ = /500 X 20+ (000X ¥,
D.

167m//'74nl/3 /9(3500) - /5‘('2000) + looo KV

g\/,:.\j ﬁh y oz lﬁ‘(BS‘OO g000) — /5(/500)4 - 285

o0 {000 /0

Cin/
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Car A of mass 1500 kg travelling at 25 m/s collides with another car B of mass
1000 kg travelling at 15 m/s in the same direction. After collision the velocity of

car A becomes 20 m/s. What is the velocity of car B after collision ?
25 m/s

22.5m/s

36.7 m/s

16.7 m/s

o 6 w »
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When A Body Is Stationary :
A. There Is No Force ActingOn It 4
. The Forces Acting On It Are Not In Contact With It &

B
C. The Combination Of Forces Acting On It Balances Each Other v/
D

. The Body Is In Vacuum o

~R

<_
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EXAMS

When A Body Is Stationary :
A. There Is No Force Acting On It
. The Forces Acting On It Are Not In Contact With It

B
C. The Combination Of Forces Acting On It Balances Each Other
D

. The Body Is In Vacuum
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A cricket player catches A ball of mass 10! kg moving with A velocity of

25 ms. If the ball is caught in 0.1 s, the force of the blow exerted on the

hand of the player is
A.

B
C.
D

Ym/ou/s‘e - Firce x ConTack fime = d?afye /n

4N

N (9”"7 Momenfun
40 N Fxof = 1llxp - /9’/)((25)

. 250N

F=0- L) ~2s a5y
7o
_ _ b/ Z

M’
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A cricket player catches A ball of mass 10! kg moving with A velocity of
25 ms. If the ball is caught in 0.1 s, the force of the blow exerted on the

hand of the player is

A. 4N
B. 25N
C. 40N
D. 250N
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A Football And A Stone Has Same Mass,

A.
B
C.
D. Both Have Different Momentum &

Both Have Same Inertia v
Both Have Same Momentum &

Both Have Different Inertia

Momentui

-—
-

SANS

mags X V‘L/ocffz

Inerfia 1o dimc:ﬂy relafed fo mass,

W
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A Football And A Stone Has Same Mass,

A.

B
C.
D

Both Have Same Inertia
Both Have Same Momentum
Both Have Different Inertia

Both Have Different Momentum
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What is responsible for the change in magnitude of speed ?

A. Momentum

B. Force v/ CAM)J( In S/Q,&f 7 aCCE./QMfI‘ﬂ)
C. Speed (can be dem/w%a/

D. Kinetic Energy
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What is responsible for the change in magnitude of speed ?
A. Momentum

B. Force

C. Speed

D. Kinetic Energy
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Which one of the following has
maximum inertia ?

‘(a) An atom
(b) A molecule

(¢) A one-rupee coin

May. Tnecha
(d) A cricket ball

=  May. Mass

AN
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B

Which one of the following has
maximum inertia ?

‘(a) An atom

(b) A molecule

(¢) A one-rupee coin

(d) A cricket ball

Answer: D
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The velocity-time graph of a ball of mass 20 g moving along a straight line on a long

table is shown. How much force does the table exert on the ball to bring it to

rest ?

A. 0.0002 N
B. -0.0002 N
C. 0.004N
D. -0.0004 N

F= 0002

Fe ma
e !
7 20 a= ?fm [ mlfm/é
E 15+ )
b e faken
B 10-
g 5 2 0 emfs — A0 eyr
S R A S A (0
time (5) —

= - unfgt = -0-02 mfs”
X 0,00 mft =-0+0004 N Lty /s e
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The velocity-time graph of a ball of mass 20 g moving along a straight line on a long

table is shown. How much force does the table exert on the ball to bring it to

rest ?

A. 0.0002 N 25
B. -0.0002 N % 20 -
C. 0.004N g iz
D. -0.0004 N E
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B —
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o —
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The statement “friction force is a contact force
while magnetic force is a non-contact force” is

(a) always true. v
(b)  true only at 0°C.
(c) afalse statement.

(d) either true or false depending upon the

temperature of the surroundings.
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EXAMS

The statement “friction force is a contact force
while magnetic force is a non-contact force” is

(a) always true.
(b)  true only at 0°C.
(c) afalse statement.

(d) either true or false depending upon the

temperature of the surroundings.

Answer: A
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A bullet of mass 10 g is horizontally fired - ‘Z ! M
with velocity 300 m s~ ! from a pistol of h
mass 1 kg. What is the recoil velocity = 4—— —_—

of the pistol?

(@ 03 m s~}

() -3 m s} b = 3 + (“Vz)
(d) -0-3ms!
V = 3 m/;
AAA—

(Mtm)u = my + M=)

(b)) 3 m s~} (I"/-H‘)) (0) = (O'O/ /V)(BDD M!”’)']‘(/ﬁ)

. v
rel vlocity Yo congidered ”Uahve’.
W

()

EXAMS
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B

EXAMS

A bullet of mass 10 g is horizontally fired

with velocity 300 m s~ ! from a pistol of
mass 1 kg. What is the recoil velocity
of the pistol?

(@ 03ms!
(b) 3 ms~!
(c) -3 m s~1

(d -0-3 m s~}

Answer: C
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An object of mass 2 kg is sliding with a constant velocity of 4 m/s
on a frictionless horizontal table. The force required to keep the object moving

with the same velocity is

A. 32N
B.ON V/ (ﬂ,‘”/- Lo 07[ Mmf’on)
C. 2N T

D. 8 N
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An object of mass 2 kg is sliding with a constant velocity of 4 m/s
on a frictionless horizontal table. The force required to keep the object moving

with the same velocity is

A. 32N
B. ON
C. 2N

D. 8 N
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With reference to the third law of motion, Action and Reaction happens at

A.

B
C.
D

Same Time
Different Time
Action happens first and then Reaction

Reaction happens first and then Action
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With reference to the third law of motion, Action and Reaction happens at
A. Same Time

B. Different Time

C. Action happens first and then Reaction

D. Reaction happens first and then Action
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A boy of mass 52 kg jumps with a
horizontal velocity of 2m/s onto a
stationary cart of mass 3 kg. The cart is
fixed with frictionless wheels. Which one
of the following would be the speed of
the cart?

(@ 2-15m/s &

(b) 1-89m/s VvV
(c) 1:51m/s

(@ 251m/s
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B

EXAMS

A boy of mass 52 kg jumps with a
horizontal velocity of 2m/s onto a
stationary cart of mass 3 kg. The cart is
fixed with frictionless wheels. Which one
of the following would be the speed of
the cart?

(a) 2:15m/s
(b) 189 m/s
(c) 1:51m/s
(d) 2:51 m/s

Answer: B
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Sand falls vertically on a conveyor belt at a
rate of 0-1 kg/s. In order to keep the belt
moving at a uniform speed of 2 m/s, the

force required to be applied on the belt is :
(a ON

b) 02N vV @/v/g K 4 mfg
© 10N l )

(d) 20N Mats /{;m . %d

—

EXAMS



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 15

Sand falls vertically on a conveyor belt at a
rate of 0-1 kg/s. In order to keep the belt
moving at a uniform speed of 2 m/s, the

force required to be applied on the belt is :
(a ON

(b) 02N
() 10N
(d) 20N

Answer: B

EXAMS
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-7£ The motion of a particle of mass m 1s

described by the relation, y = ut — gt*, J — dl'f/D/achwf
where u is the initial velocity of the s 0/ a
particle. The force acting on the b= m ]LL[«/ Ve/ocrf/ /
particle is
> ma

(a) F=m (ﬂ) F

‘ dt

. = m ( du )
(b) =mg dt’
(C) F=m -Et-

(d F=-mg

EXAMS
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EXAMS

The motion of a particle of mass m is
described by the relation, y = ut — gt*,
where u is the initial velocity of the

particle. The force acting on the
particle 1s

| _(du
L .F-m(dt)

(b) F=mg

Fem| Y
(c) F—m(dt)

(d) F=-mg

Answer: D
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A driver accelerates his car first at the rate of 4 m/s? and then at the rate of 8

m/s?. Calculate the ratio of forces exerted by the engine.

A. 2:3

B. 3:4 F = ma

C. 2:1
D. 1:2
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A driver accelerates his car first at the rate of 4 m/s? and then at the rate of 8

m/s?. Calculate the ratio of forces exerted by the engine.

A. 2:3
B. 3:4
C. 2:1
D. 1:2
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EEEEE

A goalkeeper in A game of football pulls his hands backwards after holding

The ball shot at goal. This enables the goalkeeper to

A. Exert large force on the ball

B. Increase the force exerted by the ball on hands
C. Increase the rate of change of momentum /.‘ - GOMfan/‘
D. Decrease the rate of change of momentum 19")4, f

Prt = C/mye In momenfum fﬁ: Yofy o/ dmye o/

20— My = —my = dO’)S'f‘anlL MDIY)U)ﬁW)
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A goalkeeper in A game of football pulls his hands backwards after holding

The ball shot at goal. This enables the goalkeeper to

A. Exert large force on the ball

B. Increase the force exerted by the ball on hands
C. Increase the rate of change of momentum
D

. Decrease the rate of change of momentum
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Type of inertia that tends to resist the change in case of an athlete
often jumps before taking a long jump

A. Inertia of rest

B. Inertia of motion

C. Inertia of direction
D

Uniformly accelerated motion
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Type of inertia that tends to resist the change in case of an athlete
often jumps before taking a long jump
A. Inertia of rest

. Inertia of motion

crraf Sfafe o7/ hehm

B
C. Inertia of direction L /V)O/f'm
D

. Uniformly accelerated motion /

Thle Therha sl
res/of,

EEEEE
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A sedan car of mass 200 kg is moving with A certain velocity. It is

brought to rest by the application of brakes , within a distance of 20 m

when the average resistance being offered to it is 500 N. What was the

A.

B.

- ?
velocity of the motor car : a - i = — 50D /V__ . - -?-9M/$L
40 m/s i o?oo/ﬁ
30 m/s
vi-u®= das
20 m/s
2 9 _ 9,
0ms 0 — - =4x =45 %20
—ut = —po
W= Iomfs

eI A "
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A sedan car of mass 200 kg is moving with A certain velocity. It is
brought to rest by the application of brakes , within a distance of 20 m
when the average resistance being offered to it is 500 N. What was the

velocity of the motor car ?

A. 40 m/s
B. 30m/s
C. 20m/s

D. 10 m/s
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In the absence of External force, the velocity
A. Remains constant

B. Vanishes

C. Changes continously

D

None of the Above
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In the absence of External force, the velocity
A. Remains constant

B. Vanishes

C. Changes continously

D

None of the Above
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Which of the following forces is/are
fundamental in nature ?

1. Gravitational force
2. Electromagnetic forces
3.  Strong and weak nuclear forces

Select the correct answer using the code given
below :

(a) 1only

(b) 1and2only
(c) 2 and 3 only
(d 1,2and3

PYQ-24-1

B

EXAMS
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Which of the following forces is/are
fundamental in nature ?

1. Gravitational force
2.  Electromagnetic forces
3.  Strong and weak nuclear forces

Select the correct answer using the code given
below :

(a) 1only

(b) 1and2only
(c) 2 and 3 only
(d 1,2and3

Answer: D

PYQ-24-1

B

EXAMS
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A ball of 0-1 kg mass is dropped on a hard
floor from a height of 045 m and rises to a
height of 0-20 m. If it was in touch with the

~—
-

floor for 0-1 s, the net force it applied on the

EXAMS

PYQ-24-1

0 m/$

floor while bouncing is : (take the f a= dm'}fc n VQ/DU"Q'

gravitational acceleration g = 10 m s™2) 0.5 M @—— V=0 m/g :,7;,;0 .

(@) 10N

(b) 60N © T é' 01‘202::/3 = ("2) -3

() 30N (¥ l @ ] ) 0/

d) 50N e viout= Za¢ A=~ —5 --5
v vz,uz 20 @ (e - = 4(-10) (0e2) O wfs*

= 44 (9
400) (b+45)

te -y

F: bl X — 50 M/QL
U= 3 mft

=5 N ('madm%lde)
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A ball of 0-1 kg mass is dropped on a hard
floor from a height of 045 m and rises to a
height of 0-20 m. If it was in touch with the
floor for 0-1 s, the net force it applied on the
floor while bouncing is : (take the

gravitational acceleration g = 10 m s72)

(a) 10N
(b) 60N
(¢ 30N
(d 50N

Answer: D

PYQ-24-1

B

EXAMS
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Which one of the following about different
frictional forces is correct ?

(a) Kinetic friction > Static friction >
Rolling friction

(b) Static friction > Rolling friction >
 Kinetic friction

(¢) Static friction > Kinetic friction >
Rolling friction |

(d) Static friction > Kinetic friction
Rolling friction

1l

PYQ-24 -1

[@i=]
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Which one of the following about different
frictional forces is correct ?

(a) Kinetic friction > Static friction >
Rolling friction

(b) Static friction > Rolling friction >
 Kinetie friction

(¢) Static friction > Kinetic friction >
Rolling friction |

(d) Static friction > Kinetic friction
Rolling friction

1l

Answer: C

PYQ-24-1

[@i=]
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If the block P as shown in the figure helow

were to be at rest, what should the magnitude PYQ-24-1
of force F be ?

10 N +—— —2 N
P » I
15 N« —15 N /} _
(a) 5N m
o o foved  should  be
(¢c) 8N

@ 10N éa/ancu{,
.
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If the block P as shown in the figure below
were to be at rest, what should the magnitude

of force F be ?

10 N+—

— 2 N

»F
—»15 N

15 N«
(a) 5N
(b) 6N
(cy 8N
(d 10N

Answer: C

PYQ-24-1
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Which of the following statements give
characteristics of contact forces ?

1. It appears between an object when
it 1s 1in contact with some other
object

2. It satisfies the third law of motion

3. It may appear between a pair of
solid and fluid

Select the answer using the code given
below :

(a) 1 and 3 only
(b) 2 and 3 only
(c) 1 and 2 only "

(d) 1,2 and 3

PYQ-24-1I
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Which of the following statements give
characteristics of contact forces ?

1. It appears between an object when
it 1s 1in contact with some other
object

2. It satisfies the third law of motion

3. It may appear between a pair of
solid and fluid

Select the answer using the code given
below :

(a) 1 and 3 only
(b) 2 and 3 only
(c) 1 and 2 only "
(d 1,2 and 3

Answer: D

PYQ-24-1I
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A car weighs 1000 kg. It is moving
with a uniform velocity of 72 km/h
towards a straight road. The driver
suddenly presses the brakes. The car
stops in 0-2s. The retarding force
applied on the car to stop it 1s

(a) 100 N
(b) 1000 N
() 10 kN
(d) 100 kN

-
_—

PYQ-24 -1
73 - A0 k)/_g
A = 0 — 20 /
X5/}
b2 k"’/ﬁ — mfs
é—-—
= —120 - —foo hft X l%_
0’L AAAAS
Ma

[000 /? X - /o0 /o

=-opoo = /60 k¥ ("mafn/'iuc{e)
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A car weighs 1000 kg. It is moving
with a uniform velocity of 72 km/h
towards a straight road. The driver
suddenly presses the brakes. The car
stops in 0-2s. The retarding force
applied on the car to stop it 1s

(a) 100 N
(b) 1000 N
() 10 kN
(d) 100 kN

Answer: D

PYQ-24-1

[@i=]
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EXAMS

A block of mass 2-0 kg slides on a

rough horizontal plane surface. Let the PYQ-24 - |
speed of the block at a particular
instant is 10 m/s. It comes to rest after
travelling a distance of 20 m. Which
one of the following could be the
magnitude of the frictional force ?

a'zlom/g y v.—.OM/S p L= dom

Hagnieds of fikom] o
= Mafn/{ude 0/ /am 7{0
§

,
= 4t 'éf X — 2.5 mfet

= 5.0 N (magoitede)

pi_ oyt

W
>
S
W

85— fo*

\
K>
>
S
>¢

PN
o
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